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Do NOT mark this question booklet. 

All your answers should be placed on the separate answer sheet.

This test consists of 15 multiple choice questions, 4 written questions.

Multiple Choice Section:
Answer the following 15 questions by crossing out the appropriate letter
on the answer sheet provided.
1.
Which of the following reactions is not an oxidation/reduction reaction?


(a) 

Mg(s)   +   2H+(aq)   
(  Mg2+(aq)   +   H2(g)

(b)

2C(s)   +   O2(g)   
(   2CO(g)   


(c)

2Ag+9aq)   +   Zn(s)
(   2Ag(s)   +   Zn2+(aq)

(d)

Ag+(aq)   +   I -(aq)
(  Ag I (s)
2.
Consider the following reaction:


2MnO4-(aq)   +   10Br –(aq)   16H+(aq)   (   2Mn2+(aq)   +   5Br2(l)   +   8H2 O(l)

Which one of the following statements is true?

(a) The permanganate ion is reduced and the hydrogen ion is oxidised.

(b) The hydrogen ion is reduced and the bromide ion is oxidised.

(c) The permanganate ion is reduced and the bromide ion is oxidised.

(d) The permanganate ion is the reducing agent and the bromide ion is the oxidising agent.

3.
Chlorine dioxide oxidises iodide ion according to the following, unbalanced, equation:



ClO2(aq)   +   I –(aq)   +   H+(aq)  (   Cl –(aq)   +   I 2(s)   +   H2O(l)

When balanced, what will be the coefficient for water?

(a) 2

(b) 3

(c) 4

(d) 5

4
What is the change in oxidation number of bromine in the reaction below?


2BrO3-(aq)   +   10I –(aq)   +   12H+(aq)   (   Br2(aq)   +   5 I 2(s)   +   6H2O(l)
(a) +7 to 0

(b) +7 to –1

(c) +5 to 0

(d) +5 to –1

5
When arsenous acid (H3AsO3) is oxidise to arsenic acid (H3AsO4), the number of moles of electrons supplied by 1 mole of arsenous acid is:

(a) 1

(b) 2

(c) 3

(d) 4

6
Which is not a use of chlorine? It is used ……


(a)
as an oxidising agent in black and white photographs.

(b)
in the industrial preparation of hydrogen chloride, as part of the manufacture of hydrochloric acid.


(c)
as a bleaching agent.


(d)
in the purification of water for drinking.

7
Which of the following is not a common oxidising agent?

(a) hydrogen peroxide

(b) dichromate ion

(c) sulfur dioxide

(d) concentrated sulfuric acid

8
Which pair of compounds contains chromium in its +6 oxidation state and manganese in its +2 state?


(a) Na2CrO4/KMnO4
(b) K2Cr2O7/Mn(OH)2
(c) Cr(NO3)3/MnSO4
(d) BaCrO4/MnO2
9
Which of the following reactions is least likely to occur in a blast furnace?


(a)
C(s)   +   O2(g)   (   CO2(g)

(b)
2CO(g)   +   O2(g)   (   2CO2(g)

(c)
Fe2O3(s)   +   3CO(g)   (   2Fe(l)   +   3CO2(g)

(d)
CaCO3(s)   (   CaO(s)   +   CO2(g)
10
20.0mL of a 0.10 molL-1 solution of metal ions completely reacted with 20.0mL of a 0.10 molL-1 sulfur dioxide solution. The sulfur dioxide reacted according to the following equation:

SO2(aq)   2H2O(l)   (  SO42-(aq)   +   4H+(aq)   +   2e-

If the original oxidation number of the metal ions was +3, then their oxidation number after reaction would be:

(a) +1

(b) +2

(c) 0

(d) +3

11
Which of the following is an example of a disproportionation reaction?


(a)
Pb2+(aq)   +   2 I -(aq)   (   Pb I 2(s)

(b)
4Fe(s)   +   3O2(g)   (   2Fe2O3(s)

(c)
2H2O2(l)   (   2H2O(l)   +   O2(g)

(d)
Cu2+(aq)   +   4NH3(aq)   (   Cu(NH3)42+(aq)
12
In which of the following do both of the underlined elements have the same oxidation state?

(a) Na2CrO4/V2O5
(b) HF/NaH
(c) H2O2/Na2S
(d) KMnO4/NaClO4
13
Which of the following is not a characteristic of gold?

(a) shiny, yellow solid

(b) inert with oxygen and water

(c) has only one possible oxidation state ie Au+1
(d) can dissolve in oxygenated cyanide solution

14
Why is a solution of potassium permanganate solution boiled during its preparation?

(a) To develop a pink colour change

(b) To dissolve the crystals of potassium permanganate

(c) To remove the oxygen from solution

(d) To oxidise manganese dioxide

15
Consider the following reaction:

5I-(aq)   +   I O3-(aq)   +   6H+(aq)   (   3 I 2(s)   +   3H2O(l)

Which of the following statements, about the reaction, are true?

(a) The iodate ions act as the reducing agent

(b) The iodide ions act as the oxidising agent

(c) The iodate ions are reduced

(d) The hydrogen ions oxidise the iodide ions
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